Assessment Scheme
For Computer Science 9" Part I Session 2012-13 & ONWARD

7 d Time: 03:00 hrs Total Marks:- 75
| 2 3
\\'1/ M.C.Os Short Answer Questions Essay Type Questions Questions relating to
N Practicals
Allotted Marks 12 Allotted Marks 32 Allotted Marks 21 Allotted Marks 15
Q. to be asked 5 Q. to be asked 3
Distribntion & tg Baskas fle 5 Q. to be asked '3151 6 Q. to be attempted 3 Q. to be attempted 2
Chapter No. | Weightage Q. to be attempte Q. to be attempte
of Marks
Time 15 Minutes Time 2 Hours & 45 Minutes
Total Total Total
~ ol - Marks " ol i Marks 0 o “ Marks

1 1 14 13 1 |1] 0 7. 21210 8 1 0 0 3
2 2 10 9 1 0| O 1 1 1 0 4 1 0 0 4
3 3 11 11 1 0] 0O 1 2 ] 0 6 1 0 0 4
4 a8 | 10 10 0 1 0 1 1 % 1 6 0 1 0 3 Total Question =3
3 5 ) 16 16 0 |0} 1 1 1 1 2 8 0 0 1 7 To Attempt=2
6 6 15 14 0 10| 1 1 1 1 1 6 0 1 0 V)
7 7 10 10 1 1] 0 2 1 1 0 4 0 1 0 4
8 8 14 14 0 [ 1] 4 3 1 2 1 8 0 0 1 3

Total | 100% | 97+15 4 |4 4121010550 | 3[3]2] 35 15

Important Note:- 1) K= Knowledge. U= understanding / Comprehensive A= Application & Analysis

2) This scheme of Assessment is prepared as per 33% choiCe in short answer questions, essay questions & questions relating to practicals.

3) In order to promote the cause of concept based learningiat 1€ast“10 % Questions must be unseen questions or of daily life but relating to specified learning outcomes of
Curricula & Syllabi. This portion will increase (@ 10% annually but not more than 30%.

4) The questions relating to practical will be asked from the practical Note Book as per chapter were detail given in the curriculum and syllabi 2006.

5) The Practical will be conducted at the end of 10" Class which is mandatory to qualify for award of certificate.
The Practical assessment will be made in the form of grading as per following criteria.

A+=90% & above, A=80% to 89%, B=70% to 79%, C= 60% to 69%, D= 50% to 59%, E= 40% to 49%, F= Fail = 40% & below
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill

that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles
will result in zero mark in that question.

(D) (C) (B) (A) Questions Q.1
s 1 il for Al < Jednd To0|
Col\rf:;lrft)er Mini Computer Pg?:gi:g? Super Computer | T-80 computer is an example of
g B 547 ks 0 < BrdeIGHLUENIAC| 2
Prgﬂcigzzsor g:ﬁgiﬂ?.{%‘) Vacume tube Transistor The technology used in ENIAC is
Del Al Kill *.* Delete *.* Del *.* e Gndeid L& SepsfFoptniu| 3
The command which is used to delete
all files from disk
time format chkdisk xcopy & AUEr LS pos| 4
Oneofithe Dos "internal” command is
Fy # A bq! .T_rm_Ju&':_a;_L,T,#g”djs,y;uT wl B
Printer Scanner Speaker Moanitor The device which is used to get "hard
copy" as output
o JEL & 2 e FHS G LePU| €
ROM BIOS Cache Register Temporary storage location within CPU
is called
11 10 1 0 1401 +1=  JAg| 7
in Boolean Algebra, 1+0.1+1=....
distributive | commutative law| conductive’law associalive law .{_b/'}w:@)b"c..u:'/ X+Y =Y +X| 8
W ; =
,-l.l;_iid;'j S 5 L 5! X+Y=Y+X represents the law of
o) s s3] o P (T
ROM Hard Disk Compact disk (CD) RAM One of the volatile memory is
kL g 2 y7 < S L As s S208sa| 10
Sub Track Cylinder Field Sector gi::?:i‘;:i‘;z-m a track on a magnetic
10100 10011 10010 10110 e L ASAS 18AST| 11
The decimal number 18 is equal to the
binary number
67 | 32 18 8 .";.JJTLJL';‘I;‘J._.'_’:EQJ. ,»-%@z 12 |
| Unicode scheme is used for bit code.
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2. Attempt any SIX parts [2 X 6 = 12] a)’J‘;meJI 22y
(i) Write any two uses of computer simulations in laboralories J///'Ut.»'“lu J—: ;/HJ//JLJ -i
(i) Define computer program with one example. ;,,_f:;j"{db-_,g»u /_é’/’u('lxs,;/;;; i
(iii) Why we prefer compiler over interpreter e&lfdu{é;{,a,;;ﬁﬂgf iii
(iv) State the term EDP c :I/U/__ ED.P v
(v) Explain the usefulness of ports in computer system i /"‘Vu")v M'J( ’r’l =V
(vi) State the advantage of voice recognition system. ok Bgfb("'- ';Jh-w
(vii) Explain the use of electro thermal printer. {,Jv:’igb’)/‘-',_/d},}gl-&rii
(viil) Write names of any four operating systems. uj)}fl—'tf.("/_lf&j)gc_df -viii
(ix) Define seek time. _L{)’_.QJ/JJFE._QJX
3. Attempt any FIVE parts [2 x 5=10] gzl o 34Ny
(i) Convert (27)1c into binary system. IS ASAS @D
(ii) State the importance of binary system. -gifug:;:‘.r&widj-’g -ii
(iii) Convert (185.3), , into hexadecimal. _y bt £ (185.3) i
(iv) Convert (101011) into decimal. g St 10101D,
(v) Different between folder and drive -LJ)JJ;‘DL:IJJJ:" v
(vi) Write two benefits of using antivirus program u“‘»l;’».... l//u'/lsJI Vi
(vii) what is the use of recyle biri ~& JL"'U/i{d-J”VUJ vil
(viii) Define multi tasking --:'/U_-"J’LJL" viil
4. Attempt any FIVE parts [2 x 5= 10] g Sty 0 addy
(i) Wiy ROM is calied Non volatile memory. Explain -{LH{QJUJJ_’U’J:‘:JIU IJuutffu-i
(i) Datads organized on storage devices. Elaborate ‘Lrw-ju’/kfﬂ;;{ Py 3G
(iii) Describe the purpose of main memory. S BBy i
(iv) Differentiate between maxterm and minterm in Boolean function. } ufrfu J:Ir/u‘(u*u' JJ:' -iv
@*u;f ij- v

(v) State De Morgan's laws
l(vi) 1fX=0,Y=1,Z=0 then find out the value of X Y+X. Z+>( Y u‘frsl” ‘,Ur X ¥or X, Z + X. Y wix=0, y=1, 2=0. Ji | -vi
(vii) Explain the purpose of "LABEL" command with syntax J,‘beﬁﬁrx;lwbpw J’J -vil

(viii) Differentiate between XCOPY and COPY command in DOS? .;_J)l;beitfxcopy),lcopyuﬁDOS - viii

Iﬁsa do
Note:- Attempt any Three Question [7x3=21] q/d’dlru.’;_,df )
(a) Dlﬁferentlate belween super computer and mainframe of computers. [3] L,[/fbj)ufrﬁfg)ﬁ»l}mf/,(..ﬂl) 5401¥
6‘ 9 ,’ 4 b
(b) Write down data bus and address bus 4] .uf’._ugu'-'u—z,_glnll_ﬂv_;(_,) '
[4] NS4 LCD #ICRTHN6~Jir

(a) Wri‘e down four differences between LCD and CRT monitors.

(b) Explain the difference between PROM and EPROM. [3] J/(‘jb;)/u"EPROM» (PROM()
(5] y/f "-60-68" oL S 2o 2 AL BT (LINT A

| L,[)/_LJP’LS"'uﬁ‘L}“'J“} —z (&)

7(a). Calculate"-60-68" using 8-bit, 2's compliment method

(b) convert answer in decimal. [2]



(5) ,;,,j;':)’}ﬂyi"”...-;,,:,.‘.d)k-anap (o] 2 -L{-J’-é.’/’j‘\fﬁ/,-{fdfﬁ (a) 8 4 Ir

fyizh= NV Z+ MY+ XY.Z

8. (a) Define Boolean expression.
fx,y,z) = XY.Z+ XY + YD

(b) Solve the following Boolean function with the help of K-map.

. _uffu},_.f’.t):.i, Js s (b) 4 *‘:—PL};';LJL:/‘:{/EF/:ULE‘/ (a) 9/_‘1}1”

(a) Differentiate between compiler and interprater

(b)Write down three features of Windows

Pl A

(125k JKa2x)
[1x 10 = 10] g /Srkleds o7
(~5) u‘:“ﬁsteps.’.'..‘._/rename; ﬁ}du;;;bﬁwlé.tmﬂ;’_.@{rt.'f?,lg_;l:\_.ﬁ_’j (10 AJir

10.(a) Write down the steps 1o create a folder with your name and rename with your roll number on desktop.

(ﬂ} 5) u:f’gstepsf.i./dj,a; .f:ut'.ul(?l.'b//‘_._..’;_l(.__.

(b) Write down the steps to change the time and date of your system.

L}f‘ﬁsteps _11.3_./(}:{:’?;5145E:\:.fb§ D\ LU LI

{a) Write down the steps to copy a folder from D:\drive to E:\. drive. (5 marks)

;_,r;“’crsteps L L/J_;;f},r,iig Ko bt2d () (=

(b) Write down the steps o (i) chang desktop backgrodud (2 172 narks)

q i A
U= steps .f':;/..’,p‘:n’o_'fu) (ii)

(i) Set any screei saver (2 12 marks)

[2+2+2+2+2] _ ):ff-'-Stepal:é_.f restore.sClose«Minimize: Maximize/:i’:gf))_-;{

How would you maximize , Minffize, Clese and restore the window



	50001.pdf
	50002.pdf
	50003.pdf
	50004.pdf

